File exporters like UEViewer don't work with some versions of Unreal, including the beta and tech
demos, which is why it might be useful to know how to extract vertex meshes through hex editing. The
only tools needed are a hex editor and a calculator that support hexadecimal. Something like UnrealFX
or UnrealNST will let you know if your extracted mesh will work in-game, but they aren't necessary.
I'll try to keep this as non-technical as possible.

I use FlexHEX in this tutorial, but almost any free hex editor will do the job. First, open an Unreal
archive; I decided to open Unreal.ucx from the '97 tech demo. This archive has the import sequences
for all of its meshes, so try to find those first.

F¥ FlexHEX - [unreal.ucx]
*PE e DA g B X\ | : =
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| |unreal.ucx |

o | 8816n1n0 | FF FF FF FF FF FF FF FF FF FF FF 2F 2F 3D 3D 3D
8616A1B6 | 30 30 3D 30 3D 3D 30 30 3D 30 3D 30 3D 3D 3D 3D
8616A1CH | 30 3D 3D 30 3D 3D 30 30 3D 3D 3D 30 3D 3D 3D 3D
8616A1D6 | 30 3D 3D 30 3D 3D 30 3D 3D 3D 3D 3D 3D 3D 3D 3D
8616A1ER | 3D 30 3D 30 3D 30 30 30 3D 30 3D 30 30 &H 30 3D
0616A1F 0 | 30 3D 3D 30 3D 3D 30 30 3D 3D 6D 6A 2F 2F 20 42
0016A200 | 72 75 74 65 2E 6D 8A 2F 2F 3D 3D 3D 3D 2D 3D 3D
8616A216 | 30 30 3D 30 3D 3D 30 30 3D 3D 3D 30 3D 3D 3D 3D
8616A220 | 30 30 3D 30 3D 30 30 30 3D 30 3D 30 3D 2D 3D 3D
‘| se1en230 | 30 30 30 30 3D 3D 30 30 3D 30 3D 30 3D 3D 3D 3D
06168A240 | 30 30 3D 30 3D 3D 30 30 3D 30 3D 30 3D 2D 3D 3D 3
8616A250 | 30 3D 3D 30 3D 3D 8D BA 63 6C 61 73 73 20 42 72 == class Br | iffE = i
0616A260 | 75 74 65 28 65 78 78 61 6F 64 73 20 53 63 72 69 | ute expands Scri | i BEEE M
0610A270 | 70 74 65 64 58 61 ?? 6E 6D 6A B9 70 &1 63 6B 61 | ptedPawn  packa | WHESE Rge
0010A280 | 67 65 28 55 G6E 47 6 65 29 3B D OA B0 BA 23 | ge(UnGame); # | aEEEED oo
0818A299 | 65 78 A5 63 23M2n 49 4D 50 4F 52 54 | exec IHPORT
0616A2A0 | 20 4D 45 53 48 3D 42 69 67 4D 61 6E 20 41 4E 49 | HESH=BigHan ANI | G3iEdesigms
0010A2BA | 56 46 49 4C 45 3D 5C 55 6E 72 65 61 6C 5C 4D 6F | UFILE=\Unreal\Ho | GRESEussms
B816A2CH | 64 65 6C 73 5C 41 4E 49 56 35 38 2E 33 44 20 44 | dels\ANIU58.3D D | BAWETE M
0616A2D0 | 41 54 41 46 49 4C 45 3D 5C 55 6E 72 65 61 6C 5C | ATAFILE=\Unreal\ | NSbEEiss
B616A2ED | 4D 6F 64 65 6C 73 5C 4% 41 54 41 35 38 2E 33 44 | Hodels\DATASS.3D | MR kS
0610A2F 0 | 20 58 3D 30 20 59 30 360 26 5A 3D 30 6D BA 23 65 | X=0 V=0 2=0_ #e | $FHIHEY S
0616A300 | 78 65 63 28 4D 45 53 48 28 4F 52 49 47 49 4E 28 | xec MESH
0616A310 | 4D 45 53 48 3D 42 69 67 4D 61 6E 20 58 3D 2D 34 | HESH=Big
0616A320 | 36 28 59 30 31 32 30 26 5A 30 2D 31 37 30 20 59 | 6 ¥Y=120

8810A338 | 41 57 3D 36 34 6D BA BD BA 23 65 78 65 63 20 4D | AW=64 Find what: |ANSI Text v| |‘, Eind |
0010A348 | 45 53 48 20 53 45 51 55 45 4FE 43 45 20 4D 45 53 | ESH SEQU

B010A35@ | 48 3D 42 69 67 4D 61 6E 28 53 45 51 3D 41 6C 6C | H=BigHan | Find Al |
80810A368 | 20202028 20202020 202853 54 41 52 54 Lé

80810A378 | 52 41 4D 45 3D 3028 28 20 4E 55 4D 46 52 41 4D | RAME=8 |x Cancel |
0010A388 | 45 53 3D 34 31 31 6D BA 23 65 78 65 63 20 4D 45 | ES=411 o —

8010A398 | 53 48 20 53 45 51 55 45 4F 43 45 28 4D 45 53 4B | SH SEQUE Match case Dirsction: Do | | © b |

Aa18A3AA | 3D 42 69 67 4D 61 6E 2@ 53 45 51 3D 53 74 69 6C | =BigHan
8810A3B0 | 6C 4C 6F 6F 6B 2028 280 2053 54 41 52 54 46 52 | 1Look

GO10A3CH | 41 4D 45 3D 30 2020 28 4E 55 4D 46 52 41 4D 45 | AME=8 NUMFRAME | 3RS
80816A3DA | 53 3D 35 38 AD BA 23 65 78 65 63 20 4D 45 53 4B | 5=GC8 Hexec MESH | JE\ 48 #5
B810A3ED | 28 53 45 51 G55 45 LF 43 45 28 4D 45 53 48 3D 42 SEQUENCE MESH=B | [Foa des
8010A3F8 | 69 67 4D 61 6E 28 53 45 51 3D 53 74 69 6C 6C 46 | igHan SEQ=StillF | i35 ¥HdnE
B010R48A | 69 72 65 20 20 28 2053 54 41 52 54 46 52 41 4D | ire STARTFRAN | 1 MEERREs
8016A418 | 45 3D 35 30 20 20 4E 55 4D 46 52 41 4D 45 53 3D | E=58 HNUMFRAMES= | &\W{apase
80810A428 | 32 30 B0 BA 23 65 78 65 63 28 4D 45 53 48 28 53 | 28 #exec MESH $ | & 4f ##F
BO10A430 | 45 51 55 45 4E 43 45 20 4D 45 53 48 3D 42 69 67 | EQUENCE HESH=Big | 7o sy
ae10n44ad | 4D 61 6E 28 53 45 51 3D 58 69 73 74 6F 6C 57 68 | Han SEQ=PistolUh | g #uREds
BO10AASA | 69 7O 28 20 28 53 5S4 41 52 54 46 52 41 4D A5 3D | ip STARTFRAME= | MEFHHEES
80810A468 | 37 30 20 20 L4E 55 4D 46 52 41 4D 45 53 3D 32 38 | 78 HUMFRAMES=28 | \Ei3psses
0010A470 | 6D BA 23 65 78 65 63 20 4D 45 53 48 20 53 45 51 #exec MESH SEQ | [ Sfr 38FET
BO10A4EA | 55 45 LE 43 A5 28 4D 45 53 48 3D 42 69 67 AD 61 | UENCE HESH=BigHa | 7 sieesds
8016A498 | 6E 28 53 45 51 3D 53 6C 65 65 7820 20 28 20 280 | n SEQ=Sleep ups 1l

— ARAAALAR | 2A 9A 2R C2 Ch W4 CO Ch LE CT L4 WA LEC 90 90 9A CTADTCOAKMC—N A | ecwszemre

This is the import sequence for the BigMan. Skip it and any code that comes after, and you'll eventually
find the mesh. What gives the location of the mesh away is a pattern of ANSI characters that are
surrounded by blank ANSI text (there will be hex data there, but it doesn't appear in ANSI). Once you
find that, look upward until you find a set of eight FFs, since this shows where the mesh data begins.
There will be a set of hex values that increment by 1, followed by three 00s (ie. ES 00 00 00 E6 00 00
00). Follow those values until they stop incrementing. The value that follows will by the number of



vertices the mesh has; in this case, the BigMan has E9 vertices, which is 233 in decimal. After the
number of vertices comes the number of animation frames. Keep in mind that Unreal archives are in
Little Endian format, so instead of the BigMan having 9B 01 (39,681) frames, it has 01 9B (411)
frames. Save both of these values (and their locations) somewhere, you'll need them later. See
http://en.wikipedia.org/wiki/Endianness for more information on little endian.
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|_|unreal.uct |

= | 8e18CDS0 | 60 08 68 15 B0 0O 0O B8 OO OO BO 608 OO 08 B0 00 s
@e16CDG0 | OO OO 66 3n0 OO 00 6O 13 00 00 00 9F 03 61 03 FF : Maij| = sy
@010CD70 | FF 1B 61 C5 1D 03 08 00 00 00 00 00 00 00 B0 15 | A & Iy
0010CD80 | 60 86 80 OEry .. oo oioc the mesh from the 3P ) : #
@816CD98 | A6 6 @@ 1y -0 --HelEtEs LIS ST LS g 0 # i L| ¢ mgs
@8168CDAE | 1E 83 18 BEcode a0 Sy
@816CDEO | 6O 00 8O OF 16 iijijijiijijij (1T
@8168CDCO | B0 60 B0 16 00 00 MG 3A 00 OO 0O B8 00 6O 0O : z
@e18CcDDO | 80 @8 00[FF FF FF FF FF FF FF FF|08 80 64 C4 00 £ dii =

+| Bo10CDED | 48 7D C4 0O 0B DB C2 B0 SO 6B 44 B0 CO 7A 44 00 | @yA UA tkD AzD | #AmASDED

@O16CDFO | B0 6B 43 6@ OO OO 00 OO 00 OO 0O 00 00 66 B0 B0 | KC 0
@E16CEGS | PO 60 B8 6@ E4 G0 G0 00 E2 00 0O 68 E3 06 80 00 i &4 3 53
@010CE10 |[ES 00 00 00 E6 0D 00 00 E7 00 00 00D ES 0P OO BO]( 3 # ¢ & Sece
8016CE24 ||E9[ 00 08 00 B9 00 60 60 MBMGN 60 08 FF FF o8 8e | é & 0 i dénmn
@616CE36 |90 60 88 8@ CD CC CC 30 CD CC CC 3D CD CC 4C 3E iii=iii=11L> SRR
@O168CELD || B0 OO 38 C2 00 00 FO 42 00 00 24 C3 00 0 B9 40 A 9B *A B | 2B wWE
@0816CESO || 60 OO 00 6@ OO 00 60 OO0 00 00 OO B9 01 0 B2 00
@816CEGD || B0 01 5A 6 g0 0@ 02 80 Znnoyy AR
@O16CE7O || B0 02 48 6 @2 0@ B4 80 HnZn\\ Az
@O16CESD || 00 03 48 6F @2 0@ 05 00 HRyA@S )
@616CEYD || 00 04 48 53 @6 6@ 05 60 BS\\ "I  ER
@616CERD || B8 85 5C 5C g5 88 06 60 \AUK"T < PR
@816CERS || 88 06 76 36 @5 8@ 87 80 u6 "~ TuX B
@816CECO || 00 07 4B 36 83 00 o4 00 K6~ Tub BV
@0168CEDD || B0 08 32 62 48 6E 40 53 00 00 DA 00 04 0D B8 00 2bHnES [ ERE
BO168CEED || B0 69 2D 47 40 53 4B 36 00 00 OB 00 09 0 A 00 ~BESK6 [ =24
BO16CEFO || B0 BA 24 54 32 62 2D 47 00 00 OA 68 08 08 OBC 0O $T2b-G [ HESS
8016CF 8o @8 60 6D B0 O 0O OC 69 —BK6 /% I @H
so1ocFo |After the 8FFs, look for g5 5o oF oo on 6o o0 66 -G/ LIRS
ae18CcF28 | 3 set of hex values that 96 60 6% 68 07 88 BF @9 H-G ; [ 1594
@616CF30 |. @6 60 10 00 ©8 00 OF 60 K6ub j [ b
ap1gcrug |INCrement by one. The g4 99 19 99 oF 8811 88 | F K6j sDiF
@M1 8crs8 | number of vertices Is 00 68 6F 86 12 08 11 6@ F ju gty
8010CF60 @08 6@ 67 60 13 00 12 60 i u i)
saiacFze | after the last 80 60 66 B0 1% 08 12 06 | v6l; o B
B81BCF88 |incrementing value, and 88 88 15 88 8C 68 18 68 ux’ m; EETE
@016CF90 ) @0 00 16 00 14 0O 06 60 $7=F T
ap1acraa |the number of 08 60 17 68 OE 60 6D A0 B’ ux MR
0B10CFBO | 51imation frames @6 6@ 17 60 15 00 18 68 : H; =2 T
@616CFC ) @6 6@ 19 60 17 00 18 @0 Buz ull =
@@1@cFoe | Comes after. @6 6@ 19 60 18 00 1A 69 ;EvER )i
AO1BCFER | ww 1Y H1 6B &5 &/ o5 Y5 88 88 1A 88 18 68 1B A0 A 11]]] [ ek
@O168CFFO | B0 1A 8B 9B 85 87 76 9F 00 00 1B 09 18 08 1C 00 EEEEUE [ e
@0180880 | B0 1B 76 9F 85 87 GF 8B 0O 00 15 68 1D 08 1C 00 vEEE 1 e
@e1680818 | B0 1C 81 75 5D 70 5F 8B 00 00 1E 68 1B 06 1C 00 ujp_n [ B
@81680820 | B0 1D 62 A1 76 9F SF 8B 0O 00 1C 68 1F 06 1E 00 b;ull N Pty
@016806830 | B0 1E S5F 8B 30 97 62 A1 00 00 20 68 1F 06 1C 00 _momb; AT
@e160640 | B0 1F 36 83 36 97 SF 8B 0O 00 21 68 1C 66 1D 00 omom m ¢ & HEEh

E— A4 ARRC R AR 2@ LW 77 CC oD Ch* 703 AR AR 29 Gn 4N AR A8 AR L =1 L WAl fows, "0



http://en.wikipedia.org/wiki/Endianness

Follow the pattern downward until you find another set of eight FFs. The value after that pattern is the
number of polygons in the mesh. In this case, the model has 454 polygons. The should be another set of
eight FFs. Look for 01 01 00 00; the animation data begins after this.

B8 FlexHEX - [unreal.ucy]
P = D o
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| Junreal.ucx | ™ ] ™ ]

o | 9018E948 | @8 17 67 87 82 87 82 BA 64 80 D3 6@ DA 08 DB A gEEERS 0 0 U | [otee ooU
BO10E970 | B0 18 67 BA 82 BA 82 DC 04 GO CB 00 DB 00 DC 00 | gomemii E 0 i | 7cpE EOU
BO10E980 | 80 19 C1 BA AC BA AC 94 B4 BA D4 B8 D8 68 D7 A9 Ac-o-0 @ B = | [ == 6=
BG10E990 | 8@ 1A 5C 4B &2 6F 67 65 04 BA DS @8 D4 66 D7 A8 \Kboge O 0 % | [ #g#e 00x
BE10E9AG | B0 1B 67 54 SC 4B 67 65 04 0@ D6 80 DS 66 D7 0@ gTiKge O @ = | 0o O
B010E9ES | 80 1C 67 65 DF 68 E1 08 geqTho ¥ 0 & | [ 246% 704
B010E9CH | B0 88 E1 DE DE 88 E2 @8 abijijii; o P 3 R
0810E9DA | B0 80 88 FF E1 88 DF 08 mijAg=l 3 a0 700 3ap
0810E9ER | 80 88 A4 DC EQ 808 E2 A8 wlilmij b 3 3 muE: bai

4| BB1BE9FO | B8 A8 C4 FF E5 688 E7 a8 fijAA=l 3 3 ¢ D40 35
8818EAAA | 88 A8 E1 DE mesh data E4 B8 ES 64 abAAAj 3 d e By 3Fie
BE10EA10 | A B0 C3 CA 89 BE A4 DC (B4 GO ES 80 E7 60 ES A8 finmzsll & ¢ 3 LAUm Bed
O610EAZG | 00 60 A4 DC C4 FF C3 CO (64 OO E4 00 E6 00 EE 00 wiiAjin 3 = & W & Had
BO10EA3D | A B8 89 BE 88 FF A4 DC (B4 BA DD 88 DE 68 DF A8 ERij=ii Y b oD wem Ybh
BG10EAL4AG | A B0 E1 DE C4 FF FF FF |84 8@ DD 88 EA 68 DE A8 ejl:ijyg;i Yab K Vab
BE10EASA | B0 BB E1 DE C3 COC4 FF (B4 BB DD 80 E1 60 EO A8 ipfARAy Y 3 3 B 933
BO10EAGD | BA BB E1 DE FF BF C3 CO (B4 BA E? B EP 68 E1 A8 apij;An a3 4 Eu 533
BE10EA7A | A B0 A4 DC C3 CA 89 BE |04 AA E3 80 EA4 60 ES 08 siinAms 3 3 3 B 3ES
PE10EASAE | 60 B0 EA DE FF BF C3 CO |04 BA E3 80 EG6 60 E4 A8 apij; AR ¥ o+ d B Spd
B010EA90 | 60 60 E1 DE FF FF FF BF |04 80 E3 80 E7 60 E6 00 abijjij; 9 ¢ » B ® dca
BO10EAAD | BA BB E1 DE CA FF FF FF |84 BA E8 B8 E6 68 E7 A8 abAjijiji & @ ¢ N Eeg
BG10EABA | AA B0 AL DC 88 FF C4 FF |04 0Q A0 B0 00 60 60 A8 #iimijij | Ei
BO1BEACE | 80 O0FF FF_FF FF FF FF_FF FF| @& @ 00 00 C6 01 Yjiije & EEEEE §
BO10EADS | B0 GO FE 6P 6P 00 96 A1 0O 0O BA|BA B8 68 FB 41 8 0 dgn| ex =
BG10EAER | 90 B3 60 60 32 00 08 PG 0O 0O AA (BB FO 41 91 A3 2 gnc |t 2 =
BE10EAFA | 32 60 14 60 G0 00 08 PG 0O BA FA!41 92 63 46 A8 | 2 dA° F | 2 #=F
0010EEGS | 14 60 60 60 00 0O OO 0O . ]3] 3AE 2 2
0010EB10 | 00 00 00 00 0o oo Fo 41 UMber of polygons g SAN x # 37 xt
PG10EB20 | A0 B0 60 68 FO 41 DE GG 9B 0@ 24 A0 00 60 60 A9 sal m & # 3%
GG10EB30 | 60 B0 FO 41 94 A3 BF A 17 00 60 60 60 60 60 A9 3AN =,
BO10EB4S | FA 41 95 83 D5 A8 2D A0 0O BA B0 B0 60 68 FO 41 | AN O - an | g=0- %=
BG10EBSA | 96 B3 D5 @0 16 60 A9 0@ 0O 0O 6O B0 FO 41 97 63 | W 0 sam | zi #
BG10EBGA | EB 60 17 60 00 00 08 PG 0O BA FO 41 98 63 682 81 | & 1] | i L
O016EB7O | [ . oo qoro o FB 4177 63 18 6119 60 dAw H;E
6818EBSD |~ ° AL HE ke 78 83 31 @1 13 00 60 AA dAx 1 5
8818EB9S | after the 01010000 44 81 10 @8 00 0O 6O 89 dAy D 57
0810EBAD OF 60 60 60 60 60 60 A9 daz T mA
BO10EBES | FA 41 (7B 83 63 61 65 A0 00 0O 60 B B8 60 FO 41 | 3A{ C in | ol
BG10EBCA | OE B3 (68 61 OA 00 08 DA 0O A0 BO B FO 41 99 A3 h #nn #
BE10EBDA | 72 61|29 60 G0 00 0G A0 OO A FO 41 60 60 60 08 | + ) an Uy =
BG10EBEC | 60 60|60 68 FF FF FF FF FF FF FF FF |13 00 00 0@ iy (117
801 0EBF B 80 90 C8B FE B8 58 B9 86 B7 1F 89 68 Ep X - B |: jBufF
PG10ECAA | @A 18 CO F? BB 57 6A F5 &F CF @A FC 91 C7 CB 86 Eli-W Sol G*CE | @z =
BO10EC10 | B2 4F 8B 80 39 67 C9 F1 60 90 8A F4 A1 EF 48 EC | ON 9gEF  WG6;IHL | i #m;EEN
BA16EC20 | 60 98 A9 EC 36 27 A9 ES OFE BF C8 E1 0P 98 89 ES | W 16" aW;Ea NE3 | sE-A%AsE
BO1BEC30 | C6 56 CA F7 FA 76 40 EA 94 A6 49 EC 98 3E CC FA | AVEGuJEN 1M1 | warmD ms
BO1BEC4D | E7 16 4E 83 96 F7 OE BC 7A 97 BAE2 OB B8 4C 8A | ¢c N E: =zB § L ol Bl
BO10ECS0 | B0 30 OA E1 92 B7 CA DB 02 38 CAD6 9D 17 8A CF | 0 3’-ED sE0 mI | mcmyss3

E— R_RARdRACCEAE R AT 37 oD rC i L7 RC NR”C [AC C7 i CD a4 C7 i tC hRh"ETCD h =2THRALTT Az N NE3H




Now that we know where the data is located, it's time to make the data (_d.3d) and aniv (_a.3d) files
that can be imported into Unreal. I like to start with the model, so go back to the location in the file that
has the number of animation frames. You should see two FFs; you'll need to copy everything after the
next 46 bytes until you reach the end of the model data.

Make a new file and insert 50 bytes (all 0). Paste what you copied earlier, and then go to the very
beginning of the file and enter the number of polygons and vertices. The result should be like this:

¥ FlexHEX - [techdemobrute_d.3d]

AE a ba DD X S MMM a
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| |techdemobrute_d.3d |

! | ooopoo0n
gaggaa1a
gaggBaeza
gadgaaia
ga00Bao4a
gaagaasa
0800806 8
gaagaa7a
s lsfeds st
gaagaa9a

|_|—B-B—B{I—B-B—B-B—
g1)|E9 88 Vertices g8 g8

l'ﬂ~||

Co a8 68 | &

00|68 80 B8 60 68 A e ww w08 B8 80 08

88 |68 a8 a8 [Il-] (5] l]l-] Bﬂ G0 88 80 B8 60 08 80 a8

80|68 81 88 82 00 80 01 5A oFE 6E 6F 5C SC 80 a8 Znnoyy

83 |00 B0 B8 62 00 80 B2 48 o6E SA GE S5C SC 86 a8 HnZn'y

a3 |68 a2 Bl-] 84 60 80 B3 48 6E 5C S5C 48 53 80 a8 Hn%\ @5
- - =

PC| ons 85 69 88 B4 46 53 5C SC SE 49 86 a8 [ERR R |

) ) o
ve 85 8@ 88 85 5C 5C 75 58 SE 49 08 00 WU T
o
67 08 B85 B8 66 00 A0 B6 Fo 36 SE 49 Y5 58 00 a0 uwh TuX
o
A8 68 85 08 67 00 80 67 4B 36 SE 49 Y6 J6 80 a8 Ko Iuvéd
Save the file and give it a name that ends with _d.3d.
Go back to the archive and select and copy all of the animation data.
B2 FlexHEX - [unreal.ucx]
*E B ba DD XS MM e
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| unreal.uex | ] ] ] ]

] | B018CE10 | ES 60 80 80 E6 00 08 60 E7 DO 00 00 ES 00 00 00 | 3 & ) Sag e
8016CE20 | E9 00 60 98 €D 60 00 B0 9E 01 60 60 [FF FF[6p 00]( 6 & ijij cémm
#016CE30 | (08 68 68 88 CD CC CC 3D CD CC CC 3D CD CC 4C 3E fii=iii=1IL> 2
8016CEXGT|08 66 38 C2 00 60 FO 42 68 B0 24 C3 00 08 08 46| 8A o8 =i @ | =08 4%
8016CE 60 69 00 08 66 60 A0 B0 0O 06 A BA] |81 B8 02 08
BO16CEGY | 08 01 50 GE GE 6F 5C 5C B 60 63 B0 00 08 02 60 |  Znno\\ AfiRE
801 6CE7 . 00 06 03 68 62 80 B4 B0 |  HnZn\\ A
go1acEse |COPY everything that 06 66 64 66 62 00 05 60 HNY @S s
88168CE98 |comes after this until 00 06 62 68 66 80 05 00 | @S\\"I ¢ Ry

< | se16CcEASD . . B8 08 67 68 65 80 06 00 | \\uX"I o
se1ecepe |YOU reach the eight FF's gg g ps se o5 as o7 80 u6 Tuk =
BO16CECH | 88 67 4B 36 SE 49 76 36 B8 60 B9 B B3 08 04 60 |  K6"lué hEME
BO16CEDD | 68 B8 32 62 48 6E 48 53 B8 60 BA B B4 08 08 60 |  2bHnGES [ EE
BO10CEED | 66 60 2D 47 40 53 4B 36 O OO BB 6O 00 OB OA 60 | —CESKA T
BO16CEFD | 08 OA 24 54 32 62 2D 47 ©0 60 6A B0 08 08 OC 60 | 3$T2b-G [ MR
B016CFO0 | 60 OB 2D 47 4B 36 2F 2A 0O 00 6D B0 DA 08 OC 00 | —GK6/* IS
8016CF10 | 88 6C 1A 3B 2D 47 2F 2A 00 B0 OE B0 OA 08 0D 00 ;-G/x e
B016CF20 | 68 6D GF 48 2D 47 1A 38 B B0 63 B0 07 08 OF 60 H-G ; [ B85
BO16CF30 | 88 OF 4B 36 76 36 6A 1E B0 BO 10 B 08 08 OF 80 |  K6uej [t
BO16CF40 | 88 OF 46 1A 4B 36 6A 1E 88 8O 10 88 OF 08 11 80 | F Kéj sI
B016CF50 | 88 18 46 1A 6A 1E 75 85 66 B0 6F 60 12 88 11 88 | F j u 1ty
8016CF60 | 88 11 60 1E 90 1F 75 85 60 B0 67 60 13 8812 88 | j u i
B016CF70 | 08 12 76 36 97 3B 96 1F 60 80 86 00 14 08 13 60 |  uol; o
8016CFR0 | 08 13 75 58 92 GF 97 38 60 80 15 00 OC 08 16 60 | uX’ N; FEEE
BO16CF90 | 66 14 14 24 2F 2 46 1A B0 80 16 B0 14 08 06 60 $/xF oot
B016CFAB | 88 15 89 72 92 SF 75 58 B8 80 17 60 OE 08 0D 60 | Nr’_uX T
@016CFBB | 88 16 61 38 OF 48 1A 3B B8 80 17 B 15 08 18 60 P H; 2Rk
@016CFCO | 88 17 9B 76 88 75 85 87 B 80 19 B8 17 08 18 60 e
@016CFDB | 88 18 A1 8B 9B 76 85 87 B 80 19 BA 18 08 1A 60 g
BO10CFED | 66 19 A1 8B 85 87 8B OB BA B0 1n DA 18 06 1B 60 0 iy
8016CFFO | 008 1A 8B 9B 85 87 76 9F 0@ 0O 1B B8 18 08 1C 00 [ WS
80160000 | 08 1B 76 9F 85 87 5F 8B 8@ 8O 15 88 1D 08 1C 60 [ A
80160010 | 808 1C 81 75 5D 70 5F 8B 0@ 80 1E 80 1B 08 1C 00 T B
801606826 | 88 1D 62 A1 76 OF 5F 8B 8@ 80 1C B8 1F 08 1E 60 A Fad
80160830 | 68 1E 5F 8B 30 97 62 A1 B 8O 20 88 1F 08 1C 60 s
80160840 | 68 1F 30 83 30 97 5F 88 6 86 21 88 1C 08 1D 60 ' & g t
80160850 | 68 28 4C 72 SF 8B 5D 78 B 8O 22 80 19 08 1A 60 ap e
80160860 | 68 21 A7 9D A1 8B 8B OB ©A B8O 23 B0 22 06 1A 60 | t§ SEEE H ¢ st
80160670 | 68 22 AR A9 A7 OD 8B 9B 60 BO 23 0O 1A 08 24 60 | “2@5 WM # | wama# §
80160680 | 68 23 AR A9 SB OB SE B7 60 B0 24 00 1A 08 25 60 | H=EEEE- $ % |[04ErS %
80160690 | 68 24 BE B7 SB 9B 79 B9 6 B0 25 00 1B 08 26 60 | $E-ENY' % & |[SRE % &
8016D6A6 | B8 25 79 B9 76 OF 68 BC B8 B0 27 08 25 08 26 80 | Zy'ull % ' % & | —&E3T '%&
80160888 | B8 26 79 C5 79 B9 68 BC B 80 27 BO 26 08 28 680 | &yfy % ¢ & (| wgESr A(
PE18DACE | BB 27 79 €5 SF BD 7B E5 00 00 26 B0 29 00 28 00 | ‘yA ¥pd & ) ( |0 ZER &)
80160806 | 88 28 68 BC 41 C3 78 E5 B8 80 24 88 25 08 27 60 | §Rnpa x % " Hp %%
8016DBEG | 60 29 BD C3 79 BO 79 C5 00 00 2A B8 27 08 2B 00 | ) Ay'yf = *© + | [dEw xts
8016DOFO | 88 01 8D G3 79 C5 91 EG 00 8O 2C 80 24 08 2A 00 Agfica L §$ = | Ampm 4
80160100 | 88 062 A1 BE SE B7 8D G3 00 B0 2D 0O 2C 08 2B 080 | %E- A - , + | AUEH — .+

_ ARAANR44 R AR AT NN CA n4 DC N4 CR AR AR PC AR 2N AR 290 AR RN AR - ‘WHHm —a

E (ST

IR




Make a new file and enter the number of frames that you found earlier. Using the calculator, multiply
the number of vertices (in hexadecimal) by four. Put that value in little endian right after the number of
animation frames. The BigMan has E9 vertices, which is A4 03 in little endian (03 A4 in big endian)
when multiplied by four. Paste the animation data. The result should look like this:
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Save the file with the same name as the data file, but make it end in _a.3d instead of _d.3d.

UnrealFX shows that the animations play without any problems...
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...and so does the Unreal Editor!

Meshes | =8 &J
File Edit View
Textureﬂ Actor Gasses} Snunds] Music ~ Meshes ]
2 SHE winldr] x % e
v Show VertexMeshes v Show SkelstalMeshes b Show StaticMeshes
‘TechDemoPawns ﬂ
‘techdemobigman ﬂ
Al [411] Die [36] T1[25] DieZ [41]
Shootleft [23]  T2[19]
StilFire [ 20 ] Walk [45] T3[16]
PistolWhip [20]  Walkleft [22] T4[15]
Sleep [30] WalkRight [23]  T5[5]
Gitshot [ 35 ] ShootRight [22]  TakeHit [10]

That's all there is to extracting vertex meshes. I haven't tried this with anything aside from the tech
demo, beta, and unpatched Unreal, but it should (generally) work for other versions and UT.



